1 2

3 4 5 6 7
Timerl! ? X n X n+1 X n+

8 9 10

11
2 X n+t3 X n+4 X n+5 X n+6 X n+7 X n+8 X n+9 )
< Pulse > 5 od e
E‘ i erio apture >:
Delayed Signal 7#' %1 Falling 1 71 \:l Falling 2
L Width Capture »:

CCPRL:H PERIOD | ? X

n X n+5
X n+7

The period is approximately five Timerl increments wide and the pulse is approximately two Timerl increments. Since the CCP is unable to
set up for a falling edge before the first falling edge occurs (Falling 1), the second one is captured (Falling 2).In this case, the pulse width
can be measured by subtracting the previously measured period (5) from the pulse capture (7) to have the pulse width equaling 2 (capture
minus period, 7 - 5). The signal is delayed due to the internal sychronizing circuit. These measurements are not done simultaneously.
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